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PART-I GENERALAWARENESS / KNOWLEDGE

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai
2. The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun
3. The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953
4. Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
5. Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
6.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(O) Kiran Jiju
(D) Marry Kom
7. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
8.  The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
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(A) DI (B) <fifef

(C) 71¢ feeelt (D) &I
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(A) 1962 (B) 1948

(C) 1920 (D) 1953
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9. Who was the regent of Akbar in his early days ?

9.

10.

URIS BT H HaR BT RITSATAR DI 12

(A) g oI (B) vt

(C) ArRTE (D) CrsvHd
faspa ARMTS SfaRer s Pal Rerd 87
(A) fredage (B) T

(C) BeRMET (D) 4ol

PART-I ELEMENTARY MATHEMATICS

(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
10. Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
11. Find the HCF of 54, 288, 360 :
(A) 18 (B) 36
(C) 54 (D) 108
12.  What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(C)216 (D) 432
13. Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
14. Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after
3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C)Rs. 1470 (D) Rs. 1200
15. Rs.2100is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300 (B) Rs. 2315.25
(C)Rs. 2310 (D) Rs. 2320
16. IfCANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :
(A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHJUA
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12.

13.

14.

15.

16.

54,288,360 &1 HeTH FHIYAAD ST DIFT?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TGTH FHIGID AT DITRI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 BYI P GERIR WR 6 Hferd aiffie &f <
I T 9T BT AR TS fhd=r grm?

(A) 450 BT (B) 524 ®5uy

(C) 600 TT (D) 624 ST

1200 S9F HI RIS UiIerd ARer i
ST D & | A9 98] 918 fha=i 81 SREf1?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIY 5 ufoera &) aiffs amafy

o &) 9 & a¥ q7g fdhadr 8 SraEh?
(A) 2300 TUY (B) 2315.25 U
(C) 2310 ST (D) 2320 ST

If& CANDLE &7 fdT e (drs) # EYPBNC
fored € o FLAMES &1 991 &e 3 a1 fore?
(A) DJYKCQ
(C) HICKGQ

(B) HNCOGU
(D) KCHJUA
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17.

18.

19.

20.

yefas &l Sfd fAeed | =1 FIH -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

IR R T Th o &l fe@rax M 7 9arn
% 59 gg aafth & 43 R GF &7 9rer 2 |']H
F Jg | T |qaY T

(A) o (B) wfdar

(C) wIg (D) =men

U3 (?) D H R 3 fdwed &1 99+
P

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©38 (D) 4

83X 82X 85PT Bl B :
A) 1
€8

B) 0
(D) SIRRH H PIg Aol

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

17. Choose the correct option in the place of question
mark (?):
> T4 T
18 ? 30
162 [ 196 | 150
1458 [ 1372 | 750
(A) 16 (B) 28
(C)49 (D) 54
18. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old
man related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
19. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 ®B)5
©)8 (D) 4
20. Evaluation of 8 x 82x 8~ is:
(A)1 ®0
©) 8 (D) None of these
21. Find odd oneout:
(A) Excel (B) Mouse
(C) Desktop (D) Key
22. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
23. With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting
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23. Q=g TN BT ey 9 W ¥ 77
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24.

Direction : In which answer figure specified
components of key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 25 and 26 a related pair of words is

25.

26.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative

given to replace the Question mark (?) :

27. NUMERAL: UEALRMN: :: ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
28. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
29. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(©) IuvM (D) STUM
30. PNLJ:IGLC ::VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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e : B9 A1 SR i H TERAT AT & faere

24.

25.

26.

ac faemme 87

AT P

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fader : ue9 o 27 —30 ¥ T Abeal # WL Ay

27.

28.

29.

30.

BT I PIT ST U9 g & IH o 99 -

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC : FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVM (D) STUM
PNLJ:IGLC ::VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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PART-I HINDI

R t0 31 % 32 : FreARRad it # R o 39 O ST W ST & S9S foT v wred

¥ 3R 2 o9 kg PR PIT—HT &7 _
31. (A) R (B) ST
(A) TP BT A (C) garTs (D) R
(B) fsa &1 74 _
(C) & &R el 40. ;ﬁqé@ﬁgﬁwwﬁtﬁmwm
- —4T ®
(D) e e T (A) 3THYD (B) AHIES
32 (C) orarerefi (D) UReAlfbd
(A) Foor! | R
B) 3@ ¥
(C) =nify forerch 2
(D) 1g Ffe e
33. WS @ fam v &
(A) g (B) BI3T
(C) 3t (D) BT
34, AN BT AW Tew
(A) AT (B) 3R
(C) uR¥rg (D) FFIE
35. ‘39 BT gAMGAT UG T8 ©
(A) 3rauq (B) 3T
©) (D) vt
36. ‘®H BT GIIATEl e &l B
(GVRERS (B)??’_\R"q
(C) STer (D) as

37. BT B HA 3t 7
(A) %ETd & HHE  (B) FEol UK a%]
(C) 3T T a7 (D) WA &l I

38. AR B IR BT 7 ®:
(A) 9Rh—Ta=T | <1 g8 Wc
(B) T &1
(C) SIST ATSTT BRI

(D) 31997 AT

PLUMBER-04 SET-A
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




PART-1 ENGLISH

Direction (31-32) : From the given alternatives in each

31.

32.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (33-34) : In each of the following questions, a

33.

34.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) Ibrush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Icanonly

(D) No improvement

Directions (35 -36) : In each of the following questions,

35.

PLUMBER-04

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious
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36.

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (37-38) : In the following questions, some parts

37.

38.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) Thevoting

(D) No error

Directions (39-40) : In each of the following questions,

39.

40.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... oflizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

SET-A
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41.

42.

43.

44,

45.

46.

47.

48.

PLUMBER-04

PART-1II PLUMBER

The chain wrench is used for the pipes of diameter
more than :
(A)2.5cm
(C)7.5cm

(B)4.5cm
(D) 10.5cm

Leakage is noticed during air test by :
(A) Pressure gauge

(B) Special sound of air leakage

(C) Solution of soap

(D) All of these above

In the condition of high pressure and high
temperature in pipe line which type of gasket is used:
(A) Metallic Gasket

(B) Non Metallic Gasket

(C) Semi-metallic gasket

(D) Any one of the above

Which type of valve is used to relase the
accumulated gasses automatically from pipe lines :
(A) Reflax valve (B) Check valve
(C) Float valve (D) Scour valve

Which one of the following pipes is most suitable
for making any shape of pipe :

(A) GI. Pipe (B) C.I. Pipe

(C) Copper pipe (D) Steel pipe

After which diameter the pipe can be bent by
power driven machines only :

(A)20cm (B) 40 cm

(C) 60 cm (D) 80 cm

“L 1 is the symbol of :
(A) Stop valve
(C) Safety valve

(B) Drain cock
(D) Fire hydrant

The “ph” value of drinking water should be :
(A)5 B)7
©)9 D) 11

Latest Sarkari Jobs, Govt Exam Results,
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41.

42.

43.

44,

45.

46.

47.

48.

fhaeT & a1fers = & ursy & oy == ¥
&1 AT fhar Smar 2

(A) 2.5 FH) (B) 4.5 9

(C) 7.5\ (D) 10.5

IR WAV & A RAT BT Ul Hd el
2

(A) TG AT gRT

(B) Rama o1 faey enfy &

(C) AT & °d |

(D) SWRIGT T

Jfd TTT T 79 I AT F fhd YbR BT
‘I\Tﬂfbc‘, YINT aldl %Z

(A) efcad

(B) 3rerfcadm

(C) 3ref arfcad

(D) SR H | ®Ig W

ISy oS+ & Thiad T Dl 3194 39 et
@ ol ®IF 1 ared WA fhar S @

(A) R&eled aled (B) 9 dTced

(C) Balc dred (D) PR (Scour) aTed

Pig I AATE] PR < & forg 74 § & A
T YISy WA Bl ®

(A) SH P UrgY (B) W 1S UTSY

(C) BIR UIgY (D) iTe T ISy

b U @ 918 UISY ®del fad aferd Aeh=r
gRT AIS o Ihd 2 -
(A) 20 cm
(C) 60 cm

(B) 40 cm
(D) 80 cm

“C” fbd &1 e &
(A) Y 91 (B) $71 did
(C) e dred (D) 3T TH®H

G A 9T BT “ph” A RIT B &
(A)S
(©)9

B)7
(D) 11
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49.

The soft water have :

(A) Bad odour

(B) Much turbidity

(C) Yellowish colour

(D) Corrosive action on metals

50. The depth of water seal in trap for inlet pipe of
80 mm diameter is kept:
(A) 25mm (B) 50 mm
(C) 75mm (D) 100 mm
51.  Which of the following fitting is used to connect
one branch line to a straight line :
(A) Socket (B) S.Q. Elbow
(C) Tee (D) Round Elbow
52. A small pipe piece which have external threads at
both the ends is called as :
(A) Union (B) Nipple
(C) Chuck nut (D) Plug
53. Atwhat temperature the steel pipe is heated for
the bending purpose :
(A) 100°C (B) 500°C
(C)900°C (D) 1300°C
54. Hydraulically and economically the best section of
drains for large flow is :
(A) Circular (B) V. Shaped
(C) Rectangular (D) Oval shaped
55. For cutting of the treads on pipe is held firmly by :
(A) Pipe wrench (B) Chain wrench
(C) Pipe vice (D) Pipe cutter
56. A hack saw does not consist of:
(A) Adjustable frame
(B) Screwed spindle
(C) Blade
(D) Tightening screw and nut
PLUMBER-04
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49

51.

52.

53.

54.

55.

56.

g, oI BIAT &
(A) G g
(B) 31fd Fam BT B
(C) Ol 7 T BT &
(D) &NTga3it BT reATar 2

80 oo I & geic Uy H oo AT B
TERTS T BT &

(A) 25 Ho#I0 (B) 50 Ho#i0

(C) 75 o0 (D) 100 o0

TP el TS | IRAT TS oied & ford
fa i &1 v foar e 2

(A) Aide (B) & PIg=ll

©) & (D) el Pl

TE BICT UI8Y fodd RIRT W= gfear el & &
e &

(A) I+ B) Faat

(C)dP e (D) wI T

ared & foru ursy foy ag R T fhy oI 8
(A) 100°C (B) 500°C

(C) 900°C (D) 1300°C

BISg[od g AfSd TR 4 H F B Al Bl
| B

(A) Tt (B) V. Shaped

(C) JMIATHR (D) JUSTHR

IS BIed FHI UIRY DI [HAD §RT UHSI
ST

(A) UIgy = (B) o1 X4

(C) urgy arg™ (D) U39 HeR

TP EahT H R Fe Bl -

(A) TSoR< T WA

(B) g gRT Rfuvea

C) =l

(D) TIET &1 dqTeAT U9 g AT
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57. When apipe line have a possibility of bending in
future which type of joint should not be used :
(A) Flexible joint
(B) Flanged joint
(C) Universal joint
(D) Ball and socket joint
58. Which type of seal is used to avoid leakage from
flanged joint ?
(A) Lead (B) Jute
(C) Gasket (D) Cotton thread
59. The pipe manufactured from wrought iron sheet
and laminated with rust proof layer are called as :
(A) C.I pipe (B) GI. pipe
(C) Sheet pipe (D) Asbestos pipe
60. After which diameter the pipe can be bended in hot
condition only:
(A) 40 m (B) 60 mm
(C) 80 mm (D) 100 mm
61. “%” is the symbol of :
(A) Drain cock (B) Stop valve
(C) Safety valve (D) Fire hydrant
62. Small bored wells made with screw type anchor
by adding rods are usually of diameter :
(A)3toScm (B) 5to8cm
(C)8to12cm (D)12to15cm
63. Which gasis desolved in water from the atmosphere
from decomposing the organic matter :
(A) Nitrogen (B) Oxygen
(C) Hydrogensulified (D) Carbon dioxide
64. The depth of water seal in trap for inlet pipe of
100mm diameter is kept :
(A) 25mm (B) 50 mm
(C) 75mm (D) 100 mm
65. The fitting used to close the external threaded pipe
endis:
(A) Cap (B) Plug
(C) Chuck nut (D) Nipple
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57.

38.

59.

60.

61.

62.

63.

64.

65.
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66.

67.

68.

Generally what will be the bending radius for the
steel pipe more than 20 mm diameter :

(A) Equal to the external diameter

(B) Two times of the external diameter

(C) Three times of the external diameter

(D) Four times of the external diameter

The pipe which receives discharge from water
closets urinals and slop sinks is called as :

(A) Soil pipe (B) Sub soil pipe

(C) Outfall (D) Vent pipe

The water supply system which is most suitable for
irregularly developed town or city is :

(A) Grid system (B) Radial system

(C) Ring system (D) Dead end system

69. The solid hook type pipe cutter does not consists
of :
(A) Cutting reals
(B) Blade
(C) sliding pin handle
(D) Screwed spindle
70. The pipe generally used in water supply main line
is:
(A) C.L pipe (B) GI. Pipe
(C) Copper pipe (D) Cement concrete pipe
71. Generally upto which diameter pipe can be bended
in cold condition by hand tools :
(A) 10to 20 mm (B) 30to 40 mm
(C) 40 to SO mm (D) 48 to 100 mm
72. « *” is the symbol of :
(A) Stop valve (B) Safety valve
(C) Fire hydrant (D) Drain cock
73. Drinking water must contain a good amount of
desolved :
(A) Oxygen (B) Copper
(C) Lead (D) Zinc
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Which of the following fitting is used to
connect two branch line to a straight line :

(A) Union (B) Tee

(C) Cross (D) Socket

Which of'the fitting is used to join 90° angle:
(A) Elbow (B) Bend
(C) Nipple (D) Socket

The solid/semi solid matter deposited at the
bottom of a tank is called as :

(A) Sullage (B) Soil waste

(C) Sludge (D) Waste water

A pipe wrench essentially consists of :
(A) Movable jaw (B) Soil waste
(C) Jack handle (D) Screwed spindle

Which one of the following is the metallic gasket
material :
(A) Lead
(C) Fiber sheet

(B) Asbestos
(D) Cork

Which type of valve is used to regulate the quantity
of flow through pipe :

(A) Check valve (B) Sluice valve
(C) Float valve (D) Reliefvalve
“p><t—"1s the symbol of :

(A) Safety valve (B) Stop valve
(C) Drain valve (D) Fire hydrant
What is the function of trap :

(A) To prevent the entry of foul gasses
(B) To trap the rats entering the sewer
(C) To desolve the foul gasses
(D) To create syphonic action

The dischage from water closets urinal and slop sinks
is termed as :
(A) Garbage
(C) Soil waste

(B) Sullage
(D) Refuges
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Minature form of main hole provided at the bend,
gradient change point end at a interval of 30 mtr. of
straight length is called as:

(A) Catch basin (B) Gullytrap

(C) P-Trap (D) Inspection chamber

An automatic device which allows water to flow
only in one direction is called :

(A) Safety valve (B) Check valve

(C) Sluice valve (D) Airvalve

The minimum recommended diameter of sewers,
IS:

(A) 10cm
(C)20cm

(B) 15cm
(D)30cm

Average domestic consumption of water in Indian
Cities are :

(A) 135 liter/person/day

(B) 145 liter/person/day

(C) 155 liter/person/day

(D) 165 liter/person/day

The manhole is termed as deep manhole when the
depth is at least :
(A) 2.1 mtr.
(C) 3.1 mtr.

(B) 2.6 mtr.
(D) 3.6 mtr.

At which temperature sewage become poisonous :
(A) 35° (B) 40°
(C) 60° (D) 65°

How can separate the fat oil & grease from
sewer :

(A) Bysedimentation

(B) Byskimming

(C) Byfiltration

(D) Byscreening

A sewer which receives the discharge from two or
more than two main sewers is called :

(A) Combined sewer (B) Leading sewer

(C) Trunk sewer (D) Combined main sewer
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91. The depth of water seal in all traps should not be
less then:
(A)3.5cm (B) 5.5cm
(C)7.5cm (D) 9.5cm
92. The drop mainhole is constructed when the
difference of bottom levels of main sewer and branch
sewer is greater than :
(A) 30 cm (B) 45 cm
(C) 60 cm (D) 75 cm
93. The odour of water can be determined by :
(A) Thermometer (B) Osmoscope
(C) Turbidimeter (D) None of above
94. The maximum permissible temperature for the
domestic supply s :
(A) 5°Cto 10°C (B) 10°C to 15°C
(C) 15°C to 20°C (D) 20°C to 25°C
95. A pipe sank in to the ground to tap the undergraound
water is called :
(A) Tubewell (B) Artesian well
(C) Infiltration well (D) Open well
96. The method adopted for removing bushes branches,
debris etc. from water is known as :
(A) Sedimentation (B) Coagulation
(C) Screening (D) Filteration
97. The process of passing of water through a bed of
fine granular material is called as :
(A) Screening (B) Sedimentation
(C) Coagulation (D) Filteration
98. The void space in the filtering material act like a :
(A) Settling basin (B) Inlet
(C) outlet (D) Drain
99. Slow sand filter is more efficient for removal of :
(A) Bacteria (B) Odour
(C) Turbidity (D) All of the above
100. The maximum permissible quantity of lead in water
of domestic supply s :
(A)0.01 PPM (B) 0.1 PPM
(C) 0.50 PPM (D) 1 PPM
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PART-I GENERALAWARENESS / KNOWLEDGE

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
2. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
3.  Light fromthe Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
4. Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
5. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
6. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
7. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
8.  Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
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Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

9.

10.

BTRg SO-RR o 39T 3ifaH fhde e a9
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(C) 3 faeent

(B) wifuifer
(D) <&

PART-I ELEMENTARY MATHEMATICS

Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :

(A) Rs. 450 (B) Rs. 524

(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after
3 years ?

(A) Rs. 1380
(C)Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs. 2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIJUA

Choose the correct option in the place of question
mark (?):

18 ? 30
162 | 196 | 150
1458 (1372 | 750

(A) 16
(C) 49

(B) 28
(D) 54
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11.

12.

13.

14.

15.

5200 ®UY Bl FRIFT IR 6 UfArd a1ffie &l %

I ST U7 BT AR 1T fhadr 8R?
(A) 450 T (B) 524 T
(C) 600 TT (D) 624 ST

1200 ®9Y &1 g1 5 Ufcrerd AreRer aifiya
AT B & | A9 au] 918 fha= 81 SREfY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIFY 5 ufaera &) aiffs aswafy

o <) 9 & aY q7g fdhadr g Sraeh?
(A) 2300 BT (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

Ifd CANDLE &1 {6l & (#1s) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H @ fofa?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § -1 $IH -

>[4 T

18 [ 2 ] 30

162 [ 196 | 150

1458 [ 1372 | 750

(A) 16 B) 28
(C) 49 (D) 54
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16. Inapicture on wall Ram showed anold manand 16, IR W o1 U = &1 @ | = gdmam

said “his son is my son’s uncle”. How is the old fb 59 g @fth &1 g3 W RECIRCIEl I
man related to Ram? P J§ A T FEY ©
(A) Father (B) Grandfather (A) foar (B) gfuar
(C) Brother (D) Uncle (C) wTS (D) dren
17. Choose correct option in the place of question 17. e (?) D WM W IRT ey &1 T34
mark (?) PIRT
2 T 10 T 40 2 [ 10 [ 40
7 | 12 | 50 7 | 12 | 50
9 14 60 9 14 60
(A) 3 B) 5 (A)3 B 5
©)8 D)4 ©)8 (D) 4
18. Evaluation of 8*x 82 x 8~ is: 18. 83 x & x8 P EA T :
(A) 1 B) 0 (A) 1 ®) 0
©)8 (D) None of these ©)8 (D) SR H PIg ol
19. Find the HCF of 54, 288,360 : 19. 54,288,360 &I Ha<H FHAMTAND SITd DITA?
(A) 18 (B) 36 (A) 18 (B) 36
(©) 54 (D) 108 (C) 54 (D) 108
20. What will be the LCM of 8, 24,36 and 54 : 20. 8,24,363IR 54T T A THATIA D ST DISTI?
(A) 54 (B) 108 (A) 54 (B) 108
(C) 216 (D) 432 (©)216 (D) 432

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated? 21. éég 3T pT FaY b Wl 9 8?2

(A) Chess (B) Football (A) RS (B) ®cdre
(C) Cricket (D) Shooting (C) forde (D) gfen
Direction : In which answer figure specified components <91 : B9 I IR 31|cg>|?| F FHRT 31|<g)|'?1 & faure
of key figure are found ? aQ o &7
22. KeyFigure: 22, FHAT ?l?‘l
$X 3T N

Answer Figure :
A (A) (& B
® g .
A
& o o
o o
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Direction : In Q. No. 23 and 24 a related pair of words is

23.

24.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative

given to replace the Question mark (?) :

25. NUMERAL: UEALRMN ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
26. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
27. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM
28. PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
29. Find odd one out :
(A) Excel (B) Mouse
(C) Desktop (D) Key
30. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
PLUMBER-04
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fader : ueq G0 23 —24 § vy

23.

24.

T 7 | QU T fadedl § | 99 Siie Bl g
ST dfied ¥ A T Siie ST |ee g9rdr @

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

foder : ueT o 25 —28 oy T [Ahedl # WL Ay

25.

26.

27.

28.

29.

30.

BT T P ST U9 g & 4 o 99 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC : FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IUVM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
NI Bl ST PO
INRGEE (B) #r3¥
(C) S&her (D) &I
R T fadedl & IRITT BT o9 BN -
(A) AT (B) it
(C) TR DEIEE

SET-B
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PART-I HINDI

3. RS BT A e ﬁ%f%T}:{o 39 ¥ 40 : fA=faRad areat | 59 st
(C) 3t (D) B %

32, UHT @1 e TR (A) UPfT @7 HreF
(A) A1 (B) 3R (B)WEET‘W
(C) uRrg (D) = (C) T &

(D) o3 Ffe =&

33. ‘3 B UGl UK T8l g
(A) 3fquq (B) T 40.

(C) 3 (D) Ut (A) Foorr | A
(B) & ¥

34, ‘BT BT GIRIAT g TE B (C) wrifey firerd &
(A) Ut (B) T (D) P Ffe 7
(C) Sietot (D) &

35. BT @1 "ot | e 7
(A) %ETd & HAE  (B) FEol UK a%K]
(C) 3 28 a%g (D) WA &1 o

36. TR B R BT A B
(A) ARF—4TeT I <1 88 He

(B) & &1
(C) S[3T |ISTH BRI
(D) 30T AT
37. Sl OFFF ¥ 3iET 2 IS oY U g
P 87
(A) R (B) ST
(C) gaRTS (D) TR
38. SN @+ H g &vrar ®° @ folv ud vre
P 87
(A) 3Ty D (B) A-HIE®
(C) fruesft (D) URGIfhdH
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PART-1 ENGLISH

Directions (31-32) : In each of the following questions, a

31.

32.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answer is (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) I brush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (33 -34) : In each of the following questions,

33.

34.

PLUMBER-04

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Directions (35-36) : In the following questions, some parts

35.

36.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

37.

38.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of'lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

39.

40.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

SET-B

Know More



PART-1II PLUMBER

41. Which of'the following fitting is used to connect
one branch line to a straight line :
(A) Socket (B) S.Q. Elbow
(C) Tee (D) Round Elbow
42. A small pipe piece which have external threads at
both the ends is called as :
(A) Union (B) Nipple
(C) Chuck nut (D) Plug
43. Atwhat temperature the steel pipe is heated for
the bending purpose :
(A) 100°C (B) 500°C
(C)900°C (D) 1300°C
44. Hydraulically and economically the best section of
drains for large flow is :
(A) Circular (B) V. Shaped
(C) Rectangular (D) Oval shaped
45. For cutting of the treads on pipe is held firmly by :
(A) Pipe wrench (B) Chain wrench
(C) Pipevice (D) Pipe cutter
46. A hack saw does not consist of:
(A) Adjustable frame
(B) Screwed spindle
(C) Blade
(D) Tightening screw and nut
47. When apipe line have a possibility of bending in
future which type of joint should not be used :
(A) Flexible joint
(B) Flanged joint
(C) Universal joint
(D) Ball and socket joint
48. Which type of seal is used to avoid leakage from
flanged joint ?
(A) Lead (B) Jute
(C) Gasket (D) Cotton thread
PLUMBER-04
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41.

42.

43.

44,

45.

46.

47.

48.

TP Al ST | IRAT ATs ol & ford
foa e &1 v fobar e 2
(A) |ide (B) T dIgh
()i (D) el BIgh

T BIel Uiy s RN W gfear exdl & &
AT &

(A) IfTa (B) foet

(C) I® - (D) W

Ared & forv urdy foed a w® 76 oy oI 2
(A) 100°C (B) 500°C

(C) 900°C (D) 1300°C

BISgold d Afed Tl 771 § | B I I
HaAH © -
(A) Tt

(C) ATATHR

(B) V. Shaped
(D) 3TUSTHR

IS BIed FAHI UIRY DI [HAD §RT UHS]
ST &

(A) UTST = (B) 9 =
(OEIFEICIF] (D) UTSY Hex
Uh EFbl H T a8l Il

(A) TSR da hH

(B) Ua gRT Rftvse

(C) =fs

(D) TIET &R el UF g e

9 UIRY TS Bl IS H A @ FwraeT 8
al I A SIS YA B ©

(A) FoIRIad SIrS

(B) Helvis SIS

(OB EEREACIS

(D) dfat dide e

Felroie Sire 9 REE Je & foy qerd: oA
|1 At garef B ©
(A) ST

(C) Ti@pe

(B) S
(D) g1 &
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49.

50.

51.

52.

53.

54.

55.

56.

57.

PLUMBER-04

The pipe manufactured from wrought iron sheet
and laminated with rust proof layer are called as :
(A) C.L pipe (B) GI. pipe

(C) Sheet pipe (D) Asbestos pipe

After which diameter the pipe can be bended in hot
condition only:
(A)40m

(C) 80 mm

(B) 60 mm
(D) 100 mm

“%” is the symbol of :

(A) Drain cock
(C) Safety valve

(B) Stop valve
(D) Fire hydrant

Small bored wells made with screw type anchor
by adding rods are usually of diameter :
(A)3to5cm (B) 5to8cm

(C)8to 12 cm (D) 12to 15¢cm

Which gas is desolved in water from the atmosphere
from decomposing the organic matter :

(A) Nitrogen (B) Oxygen

(C) Hydrogensulified (D) Carbon dioxide

The depth of water seal in trap for inlet pipe of
100mm diameter is kept :

(A) 25 mm (B) 50 mm

(C) 75mm (D) 100 mm

The fitting used to close the external threaded pipe
endis:

(A) Cap

(C) Chuck nut

(B) Plug
(D) Nipple

Generally what will be the bending radius for the
steel pipe more than 20 mm diameter :

(A) Equal to the external diameter

(B) Two times of the external diameter

(C) Three times of the external diameter

(D) Four times of the external diameter

The pipe which receives discharge from water
closets urinals and slop sinks is called as :

(B) Sub soil pipe

(D) Vent pipe

(A) Soil pipe
(C) Outfall

Latest Sarkari Jobs, Govt Exam Results,
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49.

50.

51.

52.

53.

54.

55.

56.

57.

R IRA | I STRIEE U o1 3lT u1sy

FIT HEATAT B
(A) C.I. Urgu (B) G.I. urgu
(D) THIREH UTgy

(C) ATex TSy
fra =T ¥ S1fdd aTer WISy Bl et & forg
T BT Tl &

(A) 40 Ho#I0 (B) 60 fHo#I0
(C) 80 fHo#I0 (D) 100 fHo#I0
(A) 371 Bl (B) T ared
(C) GReTT aTed (D) 319 I\®

TR, CIU & IR H B$ Sk R AW : fdhaA
g &1 g foar S &

(A) 33 5 10 (B) 53 8 IHI0

(C) 89 12 &0 (D) 129 15 3H0
Prafd gl & fages | IrdreRor 39 g1
H gt Sl e

(A) FATELTS (B) Oxygen

(C) BTgSIoH (NEIERRSIERCICRIRS

100 f4flo =T $Hele UTST @ 2U F oo A
fopd I ST ©:

(A) 25 fHoHI0 (B) 50 fHoHI0

(C) 75 MHo#io (D) 100 fHo#I0

qEg gI dTcl Uy & R Bl §7 IRA D
forw w9 A e &1 g3 gar &

(A) BU (B) wrT

(C) dHe (D) fAfaat

20 ol & 31fdrp T & UTSY @l A & o
Are oo fhae & o @

(A) 9180 A B aRI6R

(B) 9189 AT & QI I

(C) 918g =Y T A I

(D) 918 &A™ &I =R T[T

qIe} FARICH ATl 9 ¥ [{4d § 34 a1l
UTgY BT AT M &
(A) it aIgq
(C) AT BT

(B) 919 WfTet WISy
(D) d< TIgq
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58.

59.

The water supply system which is most suitable for
irregularly developed town or city is :

(A) Grid system (B) Radial system

(C) Ringsystem (D) Dead end system

The solid hook type pipe cutter does not consists
of :

(A) Cutting reals
(B) Blade
(C) sliding pin handle
(D) Screwed spindle
60. The pipe generally used in water supply main line
is:
(A) C.I pipe (B) G.I. Pipe
(C) Copper pipe (D) Cement concrete pipe
61. Generally upto which diameter pipe can be bended
in cold condition by hand tools :
(A) 10to 20 mm (B) 30 to 40 mm
(C) 40 to 50 mm (D) 48 to 100 mm
62. « i” is the symbol of :
(A) Stop valve (B) Safetyvalve
(C) Fire hydrant (D) Drain cock
63. Drinking water must contain a good amount of
desolved :
(A) Oxygen (B) Copper
(C) Lead (D) Zinc
64. Which of the following fitting is used to
connect two branch line to a straight line :
(A) Union (B) Tee
(C) Cross (D) Socket
65. Which of'the fitting is used to join 90° angle:
(A) Elbow (B) Bend
(C) Nipple (D) Socket
66. The solid/semi solid matter deposited at the
bottom of a tank is called as :
(A) Sullage (B) Soil waste
(C) Sludge (D) Waste water
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58.

59.

60.

61.

62.

63.

64.

65.

66.

g D | e 28R A1 Har & forw
P A T faaRor Syazen Sfud &

(A) firs gazen (B) STt waRen

(C) T ga=er (D) 95 TRRT e

TP SN &l SR & UTsy Hdid H 7 a1 aidl
2

INESER G

(B) <I$

(C) ST U gved

(D) UeER HfUsel

el UG &1 9 ATs H ATHId: DI AT UTgy

ganT fhar Sidr @
(A) TdT AleT U189 (B) SIKIGd @l uIsy

(C) Tld &1 ursy (D) A< PihIc BT TSy
BT SSIRI W SUS! 3faRel] # M= fhas
AT BT U89 AIST S bl &

(A) 1020 i/l (B) 30 9 40 o
(C)40w 50 fiFflo (D) 48 & 100 fA+io

(A) 1T 9red (B) e dTed

(C) AR TH® (D) Did

9 a9 gl § 9 W T o AT H
INEIESISE (B)Eﬁfen

(C) =frem RSES

FrefaRad & & @19 A1 e srer oS+l @
fosfl Wfel o @ Sre & forl T B &
(A) i (B) <1

(C) te (D) Hiwe

FefaRad 3 & dF A1 e 90° & BT W)
SISHECICIE RSN
(A) et
(C) Fraet

(B) avs
(D) Wiae

S P dell § UHd BFT Il 31 9 e
garel T HE B

(A) et
(C) &I

(B) AfTal axe
(D) d%< 9+l
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67.

68.

69.

70.

71.

72.

A pipe wrench essentially consists of :
(A) Movable jaw (B) Soil waste
(C) Jack handle (D) Screwed spindle

Which one of the following is the metallic gasket
material :
(A) Lead
(C) Fiber sheet

(B) Asbestos
(D) Cork

Which type of valve is used to regulate the quantity
of flow through pipe :

(A) Check valve (B) Sluice valve
(C) Float valve (D) Reliefvalve
“><t"1s the symbol of :

(A) Safety valve (B) Stop valve
(C) Drainvalve (D) Fire hydrant
What is the function of trap :

(A) To prevent the entry of foul gasses
(B) To trap the rats entering the sewer
(C) To desolve the foul gasses
(D) To create syphonic action

The dischage from water closets urinal and slop
sinks is termed as :

(A) Garbage (B) Sullage
(C) Soil waste (D) Refuges
73. Minature form of main hole provided at the bend,
gradient change point end at a interval of 30 mtr. of
straight length is called as:
(A) Catch basin (B) Gully trap
(C) P-Trap (D) Inspection chamber
74. Anautomatic device which allows water to flow
only in one direction is called :
(A) Safety valve (B) Check valve
(C) Sluice valve (D) Airvalve
75. The minimum recommended diameter of sewers,
is:
(A) 10cm (B) 15cm
(C)20cm (D)30cm
PLUMBER-04
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67.

68.

69.

70.

71.

72.

73.

74.

75.

f=faRad # & &1 U Uiy N9 H A &

(A) Td STaS (B) IR ORe

(C) 3% &I (D) Tere Ruvsa
ferafarRad & 9 &4 <1 enfede TRdbe ugrel = -
(A) e (B) Qﬂ_ ENCAY

(C) B3R TR (D) Bfd

I T died UISY | UdTE a1 H7ET BT a3
BT &
(A) I% daTed
(C) wdllc aTeq

(B) ¥<d dTed
(D) Refiw areq

“ g fam gue 2
(A) GRer dred (B) ¥ia ared
(C) S dred (D) 319 I &

2T BT T SN §

(A) TS AT B YT BT AHT
(B) AR # &l & YA BT b
(C) 7Y AT BT Gret

(D) AEHE Vg UaT BT

qTex FANIE, AT Ud Fard R | 31 areft

9819 T Hedldl o
(A) TS (B) geiot
(D) Regst

(C) IfIa axe

Yelel Bl BIeT BU Wil Jlax & Jls W, Il &
gRadT & T Wl e d TP 30 mir TR
AT SITAT & T HEATdl ©

(A) D IR (B) el ¢4

(C) fi—¢u (D) TIRIT TR

U IAfeld SUBRUT Sl Ul BT dddd Udh ol
feem # gem a1 § 1 HEda &

(A) GReTT d1eq (B) T& dTed

(C) ¥epd dted (D) a1y dred

AR &1 JATH A FAT B ©

(A) 10 T (B) 15 3

(C) 20 T (D) 30 T
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76.

77.

78.

79.

80.

Average domestic consumption of water in Indian
Cities are :

(A) 135 liter/person/day

(B) 145 liter/person/day

(C) 155 liter/person/day

(D) 165 liter/person/day

The manhole is termed as deep manhole when the

depth is at least :
(A) 2.1 mtr. (B) 2.6 mtr.
(C) 3.1 mtr. (D) 3.6 mtr.

At which temperature sewage become poisonous :
(A) 35° (B) 40°
(C) 60° (D) 65°

How can separate the fat oil & grease from
Sewer :

(A) Bysedimentation (B) Byskimming
(C) Byfiltration (D) Byscreening

A sewer which receives the discharge from two or
more than two main sewers is called :

(A) Combined sewer (B) Leading sewer
(C) Trunk sewer (D) Combined main sewer
81. The depth of water seal in all traps should not be
less then:
(A)3.5cm (B) 5.5cm
(C)7.5cm (D) 9.5cm
82. The drop mainhole is constructed when the
difference of bottom levels of main sewer and branch
sewer is greater than :
(A) 30 cm (B) 45 cm
(C) 60 cm (D) 75 cm
83. The odour of water can be determined by :
(A) Thermometer (B) Osmoscope
(C) Turbidimeter (D) None of above
84. The maximum permissible temperature for the
domestic supply s :
(A) 5°Cto 10°C (B) 10°C to 15°C
(C) 15°C to 20°C (D) 20°C to 25°C
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76.

77.

78.

79.

80.

81.

82.

83.

&4.

IR WERl | Uil @l A 'xe] @ud faai
g

(A) 135 ferex / faa / fa=

(B) 145 ferex / <afaa / a1

(C) 155 forex /afad / fea

(D) 165 ferex / <fda / fa=

UHh B Bl B T A 8lel o4 $had & | o
SAD] TERTS B A B oo HE

(A) 2.1 e (B) 2.6 #ic¥

(C) 3.1 4R (D) 3.6 HIex

T A IR Fdol fauTeT 81 ST 2
(A) 35° (B) 40°
(C) 60° (D) 65°

R A Hiel I 7 T A Hdhrerd &
(A) re¥Te ¥ B) Ry &
(C) fhege@ & (D) T

g8 AR g 31 a1 <1 9 &1fde 39 AR &1
IS UHaaT X&dl & 1 Headl o
(A)¥ga Haw  (B) <fifeT ¥R
(C) & HreR (D) FgF H IR

I YR B ¢U § Sof Al J HH T8l
BT =fRv
(A) 3.5 9
(C) 7.5 ¥+

(B) 5.5 9
(D) 9.5 ¥+

S 79 8t &1 (Aior a9 fear Sar 81 o9
B9 FeR g g1 AaR & Sile IR doll BT IR
...................... 3 31T B &

(A) 30 3+ (B) 45 3+

(C) 60 3+ (D) 75 =+

9T @1 Y fhae gRT A S @
(A) TATHIER | (B) HRDT A
(C) fifsd e & (D) 37 & BIE &

EXE] YLl H U BT e e dTIH
T B4l T

(A) 5°C ¥ 10°C
(C) 15°C & 20°C

(B) 10°C ¥ 15°C
(D) 20°C & 25°C
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86.

87.

88.

89.

90.

91.

92.

93.
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A pipe sank in to the ground to tap the undergraound
water is called :
(A) Tubewell

(C) Infiltration well

(B) Artesian well
(D) Open well

The method adopted for removing bushes branches,
debris etc. from water is known as :

(A) Sedimentation (B) Coagulation

(C) Screening (D) Filteration

The process of passing of water through a bed of
fine granular material is called as :

(A) Screening (B) Sedimentation

(C) Coagulation (D) Filteration

The void space in the filtering material act like a :
(A) Settling basin (B) Inlet
(C) outlet (D) Drain

Slow sand filter is more efficient for removal of :
(A) Bacteria (B) Odour
(C) Turbidity (D) All of the above

The maximum permissible quantity of lead in water
of domestic supplyis :
(A)0.01 PPM
(C) 0.50 PPM

(B) 0.1 PPM
(D) 1 PPM

The chain wrench is used for the pipes of diameter
more than :
(A)2.5cm
(C)7.5cm

(B) 4.5cm
(D) 10.5cm

Leakage is noticed during air test by :
(A) Pressure gauge

(B) Special sound of air leakage

(C) Solution of soap

(D) All of these above

In the condition of high pressure and high
temperature in pipe line which type of gasket is used:
(A) Metallic Gasket

(B) Non Metallic Gasket

(C) Semi-metallic gasket

(D) Any one of the above

Latest Sarkari Jobs, Govt Exam Results,
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85.

86.

87.

88.

&9.

90.

91.

92.

93.

T U BT 9TER FdTe & o)l U uigy
B SHH H IR ST © S99 T H8d o
(A) <@ I (B) 3MEeH ad

(C) 3MM=<iRep T H3M (D) Gell BT

T ¥ Sfedt, eIl 9 et fdTe @
fafy @1 =7 B 2

(A) SFTHT (B) BIcIe

(C) It (D) fheexe™

gl BT HEH SMER Yt @ IRd A [OIRe
31 fafy /=1 P B

(A) ??ff SR (B) 3rq¥me-
(OEINGNE (D) fheexe™

R el & Wlell S /T ®1 HRdl 2
(A) Sefe IR (B) Siclc

(C) 3¢ de (D) $4

INITS fheex /I g @& ford 31fdied gwrd)
F

(A) dFRaT
(C) FieHT U=

(B) T
(D) SWRIFT T4

T @Y ERS] AT H ol B SAfADman =g
AT AT BT

(A) 0.01 gravuH (B) 0.1 411 wH

(C) 0.50 4r4r.uH (D) 1 qrdrgH

fpaw & 1S = & UIgy & fory o= X4
BT YANT fhar rar =

(A) 2.5 3+ (B) 4.5 ¥+

(C) 7.5 ¥+ (D) 10.5 T+

IR WAV & FHY RAT BT Ul 4 el
2

(A) @ TS gRT

(B) Rama o1 faey enfy

(C) AT & a1t |

(D) SWRIGT T4

37fSres a9 g 7 B <M H fhdl TR &1

TR®e JAN aldl %\'1
(A) efcad

(B) 3rrfcad

(C) 3ref arfcads

(D) SIRIB H A By W
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94.

Which type of valve is used to relase the
accumulated gasses automatically from pipe lines :

(A) Reflax valve (B) Check valve
(C) Float valve (D) Scour valve
95. Which one of the following pipes is most suitable
for making any shape of pipe :
(A) GI. Pipe (B) C.I. Pipe
(C) Copper pipe (D) Steel pipe
96. After which diameter the pipe can be bent by
power driven machines only :
(A) 20cm (B) 40 cm
(C) 60 cm (D) 80 cm
97. “L7is the symbol of :
(A) Stop valve (B) Drain cock
(C) Safety valve (D) Fire hydrant
98. The “ph” value of drinking water should be :
(A)5 B 7
©9 D) 11
99. The soft water have :
(A) Bad odour
(B) Much turbidity
(C) Yellowish colour
(D) Corrosive action on metals
100. The depth of water seal in trap for inlet pipe of
80 mm diameter is kept:
(A) 25mm (B) 50 mm
(C) 75mm (D) 100 mm
PLUMBER-04
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ISy oS+ & Thiad T Dl 319+ 39 et
@ oy I 1 ared YT fhar ST ©:

(A) R&eied aed (B) 9 dTed

(C) Balc dTed (D) PR (Scour) aTed

TS | ATATET 3MBR < & ford fr § | 3
AT 9IEY YA BIAT ® ¢

(A) S P argd (B) W 1S UTSY

(C) BIR UIgY (D) ig T UIgy

fhd T & 918 UISU ®da fad aferd Aei=r
gRT #IS o Ihd 2 -
(A) 20 cm
(C) 60 cm

(B) 40 cm
(D) 80 cm

“C” b &1 et &
(A) T q1ed (B) 7 BidH
(C) e dred (D) 3T THd

G AT G BT “ph” S RIT BT &
(A)S B)7
(€)9 D) 11

g, el BT &

(A) e ga

(B) 31 Her BT ©
(C) Ul T &7 BT &
(D) &3t T ITeATar 2

80 oMo I & Tcic UIsY H Wl il Bl
TERTE T Bl &
(A) 25 00
(C) 75 fAo#io

(B) 50 fAo#0
(D) 100 fAo#T0
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # G 16 TS & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, mﬁ[—gﬁﬂm e IR IS9P g Ry 2 gfe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S UNET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H Bl A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug=ae aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q THIT | IS T UPR BT HIs {29 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT" FHI ST 3R U SAIEaR & TWR ¥E8
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. U —gRT®I # & BIS TS 3T 9 Y | TR & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH HHN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. ux® usd & v IR SX fddeu fov v 2 w9
been provided, out of which only one is correct. Bact Uh 2 wel =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed Bl dadd =ilcl / Bll dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the B U STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@s usd & IR & ©Y § dad U & T8l fAdheq
answer. If response is indicated on more than one 2 dfe b gz & forw ue ¥ &1 fahedi U Ao
alternatives or the circle has not been darkened SR 7T 2 31eal el dl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Tod SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U @I si L Fre |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T& qR faU MU IR # S YR & GuR AT el
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | e ge
case of corrections or double marking of circles P IR H IR B R AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 oden 9o o deimeey, e SR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13. yx% UST &I Th b & | Told SN P [T BIs 3P
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & gaQ #§ &8
any question is found, the question given in English Ffe U Sl & o SfSn W ¥ fear T ue g
language will be treated as final. JfH 8T |
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PART-I GENERALAWARENESS / KNOWLEDGE

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

The ‘Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
PLUMBER-04
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1.

F=IfeRad H | A IQR &7 aaq sl B
27

(A) B Rig rad

(B) TH0 dNA g

(OREIGRNES

(D) #Y B

I g W B T hed & IR
RIS S & AT H freferiad § 9 fha!
O &} Dl SIedl?

(A) foxra (B) faf3ra ama
(C) UeH (D) 3rfaaRa <9
‘BT’ BT HT fha drrr or?
(A) T AT

(B) % TTIEIGY

(C) T® &¥Mfdg

(D) T PH

YRS BTl H 3heax Bl ﬁwswdu B oT?
(A) 99 BT (B) Azl

(C) 9IRTE (D) TreHa
faspa ARMTS JidRel g Pal Rerd 872
(A) faedage (B) T

(C) TERMETE (D) §Te®

BT SOk o 39T 3ifqy fhdbe e 89
U ENG—HE WR Wl | Frafeiad § & waf

I+ 39T JffeH e {9 Wolr?
(A) faeet (B) ®eTdh<l
(QELREI (D) g=g

IR UAARIBY HISSeE &I AT Hal
Rera &7

(A) Db
(C) 7% faeet

(B) ifuifer
(D) <&

NIRRT T BT RATIAT He gl 2f1?
(A) 1962
(C) 1920

(B) 1948
(D) 1953

SET-C

Know More



9. Bijapuris known for : 9.

10. Light from the Sun reaches us in nearly : 10.
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
11. IfCANDLE is written as EYPBNC, in certaincode  11.
then in that code FLAMES will be written as :
(A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHIUA
12. Choose the correct option in the place of question  12.
mark (?):
2 4 6
18 [ 2 ] 30
162 | 196 | 150
1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54
13. Inapicture on wall Ram showed an old manand  13.
said “his son is my son’s uncle”’. How is the old man
related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
14. Choose correct option in the place of question 14,
mark (?):
> [ 10 40
7 |12 ] 50
14 60
(A)3 ®5
©)38 D)4
15. Evaluationof 8 x 82 x 8~ is: 15.
(A)1 ®) 0
©)8 (D) None of these
PLUMBER-04

(A) Severe drought Area
(B) Gol Gumbaz

(C) Heavy rainfall Area

(D) Statue of Gomateswara

dIoMYR fhges foRl ST ST 57
(A) {7 GEIRA &

(B) el I

(C) AfT gfte arel &=

(D) THaeeR &1 ufadr & ford

I BT YBT §F T (ol 3afe H ggear 22
(A) 2 fiFe (B) 4 fiFe
(C) 8 fare (D) 16 BT

PART-1 ELEMENTARY MATHEMATICS

Latest Sarkari Jobs, Govt Exam Results,
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Ifd CANDLE &1 {6l & (#1s) # EYPBNC
forerd € FLAMES &1 991 &e 3 a1 fore?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § =1 $IE -

2[4 T
18 [ 2 ] 30
162 [ 196 | 150
1458 [ 1372 | 750

(A) 16 (B) 28

(C) 49 (D) 54

IR WR 1 U fom &l feares | 9 9o
% 59 g€ <fts &1 g3 TR YT &I arar 2 |']H
FT g€ H R | © -

(A) o (B) wfdar

(C) wrg (D) =ren

U3 (?) D M R 3T fdwed &1 99+
P

? 10 40

7 12 50

9 14 60
(A)3 (B) 5
©38 (D) 4

8 x 8 x85HI B B :
(A) 1
€8

B) 0
(D) SRR H PIg Aol
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16.

17.

18.

19.

20.

Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

What will be the LCM of 8,24, 36 and 54 :
(A) 54 (B) 108
(C) 216 (D) 432

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?

(A) Rs. 1380 (B) Rs. 1290

(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C)Rs. 2310 (D) Rs. 2320

Direction : In Q. No. 21 and 22 a related pair of words is

21.

22.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE :ASK : :
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative

given to replace the Question mark (?) :

23. NUMERAL:UEALRMN :: ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
PLUMBER-04
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16. 54,288,360 T He<H AHUAAH ST BISTA?

(A) 18 (B) 36
(C) 54 (D) 108

17. 8,24,36 3R 54 &1 THTH FHIEID ST DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

18. 5200 ®YY B gRIR WR 6 U ISP &l

I ST g7 BT ARV 1T fhadr 8R?
(A) 450 ST (B) 524 ®TU
(C) 600 TT (D) 624 T

19. 1200 9 & FARIFT 5 Uferd AR a1fid
TS BT TR A9 99T 91 fha=1 8 SIaefY?
(A) 1380 TUY (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

20. 2100 B9 BT G=RIRT 5 Yferd &1 arfie ashdfs
S &R ¥ &1 aY qrg fhd= 81 SR
(A) 2300 ST (B) 2315.25 0
(C) 2310 B9 (D) 2320 B9

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

fcer - U w0 21 —22 # vIeEl &1 Feferd SireT faar
T & | fau T fAweni #§ & 99 SIS @ g
ST dftcd # o T Sie 99T ddy gifar 2

21. ENQUIRE:ASK::
(A) Frame : Paint (B) Paraphrase : Analyse
(C) Engine : Petrol (D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 23 —26 oA M fawedi § Wl fadey
BT I DI ST Y forrg &1 W= of 9

23. NUMERAL: UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24.

25.

26.

27.

28.

29.

Direction : In which answer figure specified components

30.

PLUMBER-04

BDAC :FHEG:: NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) IuvM (D) STUM
PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil

(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football

(C) Cricket (D) Shooting

of key figure are found ?

Key Figure:

Answer Figure :

A A

24.

25.

26.

27.

28.

29.

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?
(A) KLM]J (B) KLMN
(C) uVvM (D) STUM
PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
3T Eﬁ SITd P I?ﬂﬁ :
(A) TRI (B) ArsH
(C) Swher (D)
I T QApedl # 1T &1 T I -
(A) AT (B) ¥t
(C) TRI (D) sT&ToT
Qg B3 BT A vy Wel 9§ 27
(A) RSt (B) HedTd
(C) fobae (D) zffeT
fAder - oI AT SR ATHIT W FHRT ATHfT & faerse
ac faemm 87
AT 3Tl
SErECICaR]
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PART-I HINDI

31, ‘@HS BT YIRGT I AL T 38. WU’ BT fadm v @
(A) Tt (B) |Iww (A) g (B) BIam
(C) STefst D) T (C) g (D) BT
32, ‘grer &7 Hor 3 aref T 39. ‘UAEM’ BT faaH I &
(A) FETd B HAE  (B) TS U a%] (A) 179 (B) 3R
(C) I 28 d¥g (D) IRATHT Bl <7 (©) ufig (D) T
33 I @ A BT el = 40. wmwﬁaﬁmﬂé’r%
(A) 9RH—¥TaT ¥ <1 g8 we (A) S (B) i
(B) & &1 (C) 314 (D) T
(C) SIBT HIST BRI
(D) 3T AT
34, ST OFF 9 ST 2 IS oY U Ul
P 87
(A) IR (B) ST=Ter
(C) gaRT (D) ¥R
35, I <@d H U9 orar § @ fol U v
P B?
(A) THYH (B) #AIEDH
(C) frueeft (D) URGIfhdH

fdor o 36 @ 37 : fm=faRaa arai & S o9
# 3 & S fafza sifoiw:

36.
(A) BT @1 Areddr
(B) fa &1 74
(C) &l &R ol
(D) ®1g Ffe T

37.
(A) oo | e
(B) Y& A
(C) wnifay forercht &
(D) P1$ Ffe T
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PART-1 ENGLISH

Directions (31 -32) : In each of the following questions,
there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

31.
(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

32.
(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (33-34) : In the following questions, some parts
of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

33. (A) She has not completed
(B) her course
(C) Isn’tis
(D) No error

34. (A) Everycitizenis
(B) Entitled to
(C) Thevoting
(D) No error

Directions (35-36) : In each of the following questions,
sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

35. Sheis......... of lizards :

(A) tearful (B) frightened
(C) afraid (D) terrified
36. The priest was innocent ..............c....... he could not
proveit:
(A) and (B) but
(C) for (D) so
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Direction (37-38) : From the given alternatives in each
question, select the word which is opposite in
meaning of the underlined word :

37. Fluent:
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
38. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a
part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

39. 1 brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) Ibrush my teeth every day at 7 O’clock in the
morming

(C) I'brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

40. Only me I can solve the problem :
(A) Only me can
(B) OnlyIcan
(C) Ican only
(D) No improvement
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41.

42.

43.

44,

45.

46.

47.

48.
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“%” is the symbol of :

(A) Drain cock
(C) Safety valve

(B) Stop valve
(D) Fire hydrant

Small bored wells made with screw type anchor
by adding rods are usually of diameter :
(A)3to5Scm (B) 5to8cm
(©)8to12cm (D)12to 15cm

Which gas is desolved in water from the atmosphere
from decomposing the organic matter :

(A) Nitrogen (B) Oxygen

(C) Hydrogensulified (D) Carbon dioxide

The depth of water seal in trap for inlet pipe of
100mm diameter is kept :

(A) 25mm (B) 50 mm

(C) 75mm (D) 100 mm

The fitting used to close the external threaded pipe
endis:

(A) Cap

(C) Chuck nut

(B) Plug
(D) Nipple

Generally what will be the bending radius for the
steel pipe more than 20 mm diameter :

(A) Equal to the external diameter

(B) Two times of the external diameter

(C) Three times of the external diameter

(D) Four times of the external diameter

The pipe which receives discharge from water
closets urinals and slop sinks is called as :

(A) Soil pipe (B) Sub soil pipe

(C) Outfall (D) Vent pipe

The water supply system which is most suitable for
irregularly developed town or city is :

(B) Radial system

(D) Dead end system

(A) Grid system
(C) Ring system
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49. The solid hook type pipe cutter does not consists
of :
(A) Cutting reals
(B) Blade
(C) sliding pin handle
(D) Screwed spindle
50. The pipe generally used in water supply main line
is:
(A) C.IL pipe (B) GI. Pipe
(C) Copper pipe (D) Cement concrete pipe
51. Generally upto which diameter pipe can be bended
in cold condition by hand tools :
(A) 10to 20 mm (B) 30 to 40 mm
(C) 40to 50 mm (D) 48 to 100 mm
52, ¢ i” is the symbol of :
(A) Stop valve (B) Safetyvalve
(C) Fire hydrant (D) Drain cock
53. Drinking water must contain a good amount of
desolved :
(A) Oxygen (B) Copper
(C) Lead (D) Zinc
54. Which of the following fitting is used to
connect two branch line to a straight line :
(A) Union (B) Tee
(C) Cross (D) Socket
55. Which of'the fitting is used to join 90° angle:
(A) Elbow (B) Bend
(C) Nipple (D) Socket
56. The solid/semi solid matter deposited at the
bottom of a tank is called as :
(A) Sullage (B) Soil waste
(C) Sludge (D) Waste water
57. A pipe wrench essentially consists of :
(A) Movable jaw (B) Soil waste
(C) Jack handle (D) Screwed spindle
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Which one of the following is the metallic gasket
material :
(A) Lead
(C) Fiber sheet

(B) Asbestos
(D) Cork

Which type of valve is used to regulate the quantity

of flow through pipe :

(A) Check valve (B) Sluice valve
(C) Float valve (D) Reliefvalve
“><t""1s the symbol of :

(A) Safety valve (B) Stop valve
(C) Drain valve (D) Fire hydrant
What is the function of trap :

(A) To prevent the entry of foul gasses
(B) To trap the rats entering the sewer
(C) To desolve the foul gasses
(D) To create syphonic action

The dischage from water closets urinal and slop sinks
istermed as :
(A) Garbage
(C) Soil waste

(B) Sullage
(D) Refuges

Minature form of main hole provided at the bend,
gradient change point end at a interval of 30 mtr. of
straight length is called as:

(A) Catch basin (B) Gullytrap

(C) P-Trap (D) Inspection chamber

An automatic device which allows water to flow
only in one direction is called :

(A) Safetyvalve (B) Check valve

(C) Sluice valve (D) Airvalve

The minimum recommended diameter of sewers,
is:

(A) 10 cm
(C)20cm

(B) 15cm
(D) 30 cm

Average domestic consumption of water in Indian
Cities are :

(A) 135 liter/person/day

(B) 145 liter/person/day

(C) 155 liter/person/day

(D) 165 liter/person/day
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68.
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70.

The manhole is termed as deep manhole when the
depth is at least :
(A) 2.1 mtr.
(C) 3.1 mtr.

(B) 2.6 mtr.
(D) 3.6 mtr.

At which temperature sewage become poisonous :
(A) 35° (B) 40°
(C) 60° (D) 65°

How can separate the fat oil & grease from
sewer :

(A) Bysedimentation

(B) Byskimming

(C) Byfiltration

(D) Byscreening

A sewer which receives the discharge from two or
more than two main sewers is called :

(A) Combined sewer (B) Leading sewer

(C) Trunk sewer (D) Combined main sewer
71. The depth of water seal in all traps should not be
less then :
(A)3.5cm (B) 5.5cm
(C)7.5cm (D) 9.5cm
72. The drop mainhole is constructed when the
difference of bottom levels of main sewer and branch
sewer is greater than :
(A)30cm (B) 45cm
(C) 60 cm (D) 75 cm
73. The odour of water can be determined by :
(A) Thermometer (B) Osmoscope
(C) Turbidimeter (D) None of above
74. The maximum permissible temperature for the
domestic supplyis :
(A) 5°Cto 10°C (B) 10°C to 15°C
(C) 15°C to 20°C (D) 20°C to 25°C
75. A pipe sank in to the ground to tap the undergraound
water is called :
(A) Tubewell
(B) Artesian well
(C) Infiltration well
(D) Open well
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The method adopted for removing bushes branches,
debris etc. from water is known as :

(A) Sedimentation (B) Coagulation

(C) Screening (D) Filteration

The process of passing of water through a bed of
fine granular material is called as :

(A) Screening (B) Sedimentation

(C) Coagulation (D) Filteration

The void space in the filtering material act like a :

(A) Settling basin (B) Inlet

(C) outlet (D) Drain

Slow sand filter is more efficient for removal of :
(A) Bacteria (B) Odour

(C) Turbidity (D) All of the above

The maximum permissible quantity of lead in water
of domestic supply is :
(A)0.01 PPM
(C) 0.50 PPM

(B) 0.1 PPM
(D) 1 PPM

The chain wrench is used for the pipes of diam-
eter more than :
(A)2.5cm
(C)7.5cm

(B) 4.5cm
(D) 10.5cm

Leakage is noticed during air test by :
(A) Pressure gauge

(B) Special sound of air leakage

(C) Solution of soap

(D) All of these above

In the condition of high pressure and high
temperature in pipe line which type of gasket is used:
(A) Metallic Gasket

(B) Non Metallic Gasket

(C) Semi-metallic gasket

(D) Any one of the above

Which type of valve is used to relase the
accumulated gasses automatically from pipe lines :
(A) Reflax valve (B) Check valve
(C) Float valve (D) Scour valve
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85. Which one of the following pipes is most suitable
for making any shape of pipe :
(A) GI. Pipe (B) C.I. Pipe
(C) Copper pipe (D) Steel pipe
86. After which diameter the pipe can be bent by
power driven machines only :
(A) 20 cm (B) 40 cm
(C) 60 cm (D) 80 cm
87. “LJ”isthe symbol of :
(A) Stop valve (B) Drain cock
(C) Safety valve (D) Fire hydrant
88. The “ph” value of drinking water should be :
(A)5 B)7
()9 D) 11
89. The soft water have :
(A) Bad odour
(B) Much turbidity
(C) Yellowish colour
(D) Corrosive action on metals
90. The depth of water seal in trap for inlet pipe of
80 mm diameter is kept:
(A) 25mm (B) 50 mm
(C) 75mm (D) 100 mm
91. Which of the following fitting is used to connect
one branch line to a straight line :
(A) Socket (B) S.Q. Elbow
(C) Tee (D) Round Elbow
92. A small pipe piece which have external threads at
both the ends is called as :
(A) Union (B) Nipple
(C) Chuck nut (D) Plug
93. Atwhat temperature the steel pipe is heated for
the bending purpose :
(A) 100°C (B) 500°C
(C) 900°C (D) 1300°C
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95.
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99.

Hydraulically and economically the best section of
drains for large flow is :
(A) Circular

(C) Rectangular

(B) V. Shaped
(D) Oval shaped

For cutting of the treads on pipe is held firmly by :
(A) Pipe wrench (B) Chain wrench
(C) Pipe vice (D) Pipe cutter

A hack saw does not consist of:
(A) Adjustable frame

(B) Screwed spindle

(C) Blade

(D) Tightening screw and nut

When a pipe line have a possibility of bending in
future which type of joint should not be used :
(A) Flexible joint

(B) Flanged joint

(C) Universal joint

(D) Ball and socket joint

Which type of seal is used to avoid leakage from

flanged joint ?
(A) Lead (B) Jute
(C) Gasket (D) Cotton thread

The pipe manufactured from wrought iron sheet
and laminated with rust proof layer are called as :
(A) C.L pipe (B) GI. pipe

(C) Sheet pipe (D) Asbestos pipe

100. After which diameter the pipe can be bended in hot

PLUMBER-04

condition only:
(A) 40 m (B) 60 mm
(C) 80 mm (D) 100 mm
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answer. If response is indicated on more than one 2 dfe b gz & forw ue ¥ &1 fahedi U Ao
alternatives or the circle has not been darkened SR 7T 2 31eal el dl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Tod SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U @I si L Fre |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T& qR faU MU IR # S YR & GuR AT el
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | e ge
case of corrections or double marking of circles P IR H IR B R AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 oden 9o o deimeey, e SR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13. yx% UST &I Th b & | Told SN P [T BIs 3P
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & gaQ #§ &8
any question is found, the question given in English Ffe U Sl & o SfSn W ¥ fear T ue g
language will be treated as final. JfH 8T |

SPACE FOR ROUGH WORK
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3R 37U EWER &N | IfS BIS SFIGIR SWRIgd § 9
Pe fdaxor P & ARaT ¥ O 9P SIR-UTD A

Heiw 8l fBar g |

PLUMBER-04

SET-D

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




PLUMBER-04 SET-D

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



PART-I GENERALAWARENESS / KNOWLEDGE

1. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak

2. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal

3. Vikram Sarabhai Space Centre (VSSC) is located

at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru

4.  Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test

match among the following?
(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai

5. The headquarter of the Indian Mountaineering

Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

6.  The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

~

Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara

8.  Light from the Sun reaches us in nearly :
(B) 4 minutes
(D) 16 Seconds

(A) 2 minutes
(C) 8 minutes
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‘JThTAdRa’ BT f=rafor fhaa wxrar oar?

(A) T e

(B) % TTEIGN

(C) T& &lfdg

(D) T® D

YRS BTl H IhaR BT RIUSHATAR DI 21?7
(A) 3TgeT el (B) Sxwdf

(C) 9FRTE (D) IS

faspa ARMTS SfdRer &g Pal Rerd 87

(A) frodagsa (B) g

(C) TRMETR (D) §TeT®

BT Sol-RR o 37971 3ifqy fhdbe e 89
U ENG—HET WR Wel | fr=aferiad § & waf

I+ 39T JffoH e {9 Wolr?
(A) faeet (B) deTdh<l
(OEEREI (D) g=g

IR UAARIBY HISSeE &I AT Hal

Rera 87

(A) DADT (B) arfuffer

(C) 77 faeed (D) <&
SITIRIS 3 BT RTUAT Hd AT 17
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST SITar &7
(A) YT GERRAT &=

(B) el e

(C) aifcr gfte gt &=

(D) AR &1 Tfeod T @ ford

I BT b1l 8H I fdba-il rafe H ugedr 27?
A) 2 e B) 4 e
(C) 8 fAse (D) 16 ADTS
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9.

10.

FefaRad | & FYqR &1 aqar qrgwall b
27

(A) B Rig rad

(B) g0 I~ Rz

(ORESGRNES

(D) ¥ B

s RiEerd W 5 T e & AR
MY g & 1A H freforiaa | | feaat
IAUET ol DI S ?
(A) fa=mr

(C) deH

(B) T3 ama
(D) rfdaRa a9

PART-I ELEMENTARY MATHEMATICS

9.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
10. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
11. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
12. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 ®) 5
©)38 (D) 4
13. Evaluationof 83 x 82 x 8 is:
(A)1 ®)0
©) 8 (D) None of these
14. Find the HCF of 54, 288, 360 :
(A) 18 (B) 36
(C) 54 (D) 108
15. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432
16. Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
PLUMBER-04
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11.

12.

13.

14.

15.

16.

IR W & U o B feares M« gaman
% 59 9g =IfRe &1 g R I &7 9 8 ']
B Jg W 9T |qaY T

(A) fuar (B) ufuar

(C) g (D) =ren

U3 () & W R 3fad fAded &1 au+

DITY -

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©) 8 (D) 4

X 8x85HI B B :
(A) 1
(C) 8

B) 0
(D) SRR H PIg A8l

54,288,360 &1 He<H HIYAAD ST HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TYTH FHAIIIID I DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®UY Bl FRIFT WR 6 Uferd a1ffie &l v

I I 991 BT AR TS fhd=r grm?
(A) 450 BT
(C) 600 T

(B) 524 T
(D) 624 ST
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17.

18.

19.

20.

Direction : (Q. No. 21-24) Choose the correct altenative

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C) Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300
(C)Rs. 2310

(B) Rs.2315.25
(D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHIUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

given to replace the Question mark (?) :

21. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
22. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
23. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
PLUMBER-04
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17.

18.

19.

20.

1200 U &1 G=RIRT 5 Uferd |eRer arfie
T D &R | A aut 91 fhae 81 SefT?
(A) 1380 T (B) 1290 ®ud
(C) 1470 9 (D) 1200 I

2100 Y BT G=RIRT 5 Ufrerd &1 a1 =shgis
T &R 9 & a9 918 o+t & SIef?

(A) 2300 ST (B) 2315.25 U

(C) 2310 BT (D) 2320 T

afd CANDLE &! f&l e (@1€) §# EYPBNC
forad € o FLAMES &1 31 & H 1 forem?
(A) DIYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

U @I S fdder | I_1 I -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

foder : ued Wo 21 —24 A I fabedi # Wl fAdhey

21.

22.

23.

BT I DI ST Y9 forrg &1 = of 9

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE : ?

(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
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24.

25.

26.

27.

PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

28.

of’key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 29 and 30 a related pair of words is

29.

30.

PLUMBER-04

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence: Man (D) Habital : home
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24.

25.

26.

27.

28.

PNLJ:IGLC :: VTIRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
RITA DI STd BT -
(A) Vel (B) Arsd
(C) SE&her (D) &
oy T fAhedl & IRFTT &1 o9 DI -
(A) AT (B) HTet
(C) TRY (D) ST&TIT
<dvg 03T BT e b Wl A &7
(A) TR (B) HedTd
(C) fobabe (D) gffeT
e : o9 A1 SR i H FERAT AT & faere
d faemme 27
AR 3MMHA
IR 3T

fder : U Fo 29 —30 H IgT BT GefT SireT fear

29.

30.

a7 2 | AU T fadent # A 99 Siis @l g
ST dfYed ¥ QT Sis ST Heg ST &

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT : :

(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PART-I HINDI

31, WY B R BT et 38. '3fer T wARETEl wE T T
(A) IfRp—raT & & gF We GVEERE! (B) 3T
(B) < & (C) 31 (D) wet
(C) S[ST 4TSI NIl _
(D) 3rJoT BT 39. ‘HHA BT TARIET TR TE T
(A) T (B) R
32, S OFFF ¥ 3T B 9 folU U Irea (C) Sferst (D) B
DI &7
(A) R (B) ST=ey 40. ‘81 BT Hel' W 37 ©
(C) geRTSZ (D) ¥R (A) HE-Td B HATS  (B) WES IS a9

(C) 3T 28 a7 (D) THATHT @ <
33. S <@+ # g &vrar ®° @ forv ud vree

HIT—T 87
(A) 3THYDH (B) AAIEDH
(C) fruesft (D) URGIfhdH

fAder w0 34 9 35 : fa=faRaa arait § O ofer
A Ffe 2 S9 fafza s
34.
(A) Ui @1 Aeddr
(B) fsa &1 74
(C) 7I&f & orcll
(D) ®1g Ffe e

35.
(A) oo | fAar
(B) ¥Ew 9
(C) wnifay forercht &
(D) P1$ Ffe T

36. U’ BT fad¥ v @
(A) g (B) BI37
(C) gt (D) BT

37. SUA BT A v 2

(A) |11 (B) 3R
(C) ulrg (D) =
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PART-1 ENGLISH

Directions (31-32) : In the following questions, some parts ~ Directions (37-38) : In each of the following questions, a

ofthe sentences have errors and some have none. part of the sentence is printed in bold. Below are
Find out which part of a sentence has an error. Ifa given alternatives to the bold part at (A), (B), (C)
sentence is free from error, then your answer is (D), which may improve the sentence. Choose the correct
i.e. No Error : alternative. In case no improvement is needed your
answer is (D) :

31. (A) She has not completed
(B) her course 37. 1brushed my teeth every day at 7 O’clock in
(C) Isn’tis the morning :
(D) No error (A) I'brushes my teeth every day at 7 O’clock in

the morning

32. (A) Everycitizenis (B) Ibrush my teeth every day at 7 O’clock in the
(B) Entitled to moming
(C) The voting (C) I'brush my tooth every day at 7 O’clock in the
(D) No error moming

(D) No improvement
Directions (33-34) : In each of the following questions,
sentences are given with blanks to be filled inwith ~ 38.  Only me I can solve the problem :

an appropriate word(s). Four alternatives are (A) Only me can
suggested for each question. Choose the correct (B) OnlyIcan
alternative as your answer : (C) Ican only

(D) No improvement
33. Sheis......... oflizards :

(A) tearful (B) frightened Directions (39 -40) : In each of the following questions,
(C) afraid (D) terrified there are four different words out of which one is
correctly spelt. Find the correctly spelt word :
34. The priest was innocent ...................... he could not
proveit: 39.
(A) and (B) but (A) Saimultaneous
(C) for (D) so (B) Simultaenous
(C) Simultaneous
Direction (35-36) : From the given alternatives in each (D) Simultanious
question, select the word which is opposite in
meaning of the underlined word : 40.
(A) Fortuneate (B) Fortuneit
35. Fluent: (C) Forchunate (D) Fortunate
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
36. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
PLUMBER-04 SET-D
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PART-1II PLUMBER

41. Generally upto which diameter pipe can be bended
in cold condition by hand tools :
(A) 10to 20 mm (B) 30 to 40 mm
(C)40to 50 mm (D) 48 to 100 mm
42. i” is the symbol of :
(A) Stop valve (B) Safetyvalve
(C) Fire hydrant (D) Drain cock
43. Drinking water must contain a good amount of
desolved :
(A) Oxygen (B) Copper
(C) Lead (D) Zinc
44. Which of the following fitting is used to
connect two branch line to a straight line :
(A) Union (B) Tee
(C) Cross (D) Socket
45. Which of the fitting is used to join 90° angle:
(A) Elbow (B) Bend
(C) Nipple (D) Socket
46. The solid/semi solid matter deposited at the
bottom of a tank is called as :
(A) Sullage (B) Soil waste
(C) Sludge (D) Waste water
47. A pipe wrench essentially consists of :
(A) Movable jaw (B) Soil waste
(C) Jack handle (D) Screwed spindle
48. Which one of the following is the metallic gasket
material :
(A) Lead (B) Asbestos
(C) Fiber sheet (D) Cork
49. Which type of valve is used to regulate the quantity
of flow through pipe :
(A) Check valve (B) Sluice valve
(C) Float valve (D) Reliefvalve
PLUMBER-04
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41.

42.

43.

44,

45.

46.

47.

48.

49.

T SNSRI W SUST IaRAT | AM=Id: fobe=

T BT UISY AIST S bl &

(A) 10920 i/l (B) 30 9 40 o
(C)40 50 il (D) 48 = 100 fA#io

(A) 1T 9red (B) et 9req

(C) 31 I& (D) ST Did

99 I/ g § A R /"l °E |
(A) SiTRATST (B)Fﬁ?ﬂ

(C) =frem RSES

frferReaa & 9 @9 A e dfa el
frdy et a9 # Siew @ ford g B ®
(A) g B) <

(C) i (D) Arde

FefaRad 3 & @ Al BT 90° & BT R
SIS & B AT B
(A) et
(C) Fraet

(B) avs
(D) Wi&e

e P Tl § THHT BET dTell 31 T 3eferd

ueref R hEddr &

(A) et
(C) &I

(B) AfTal oxe
(D) a%< Uil

fa=forRaa & & &1 U Uisy N9 H MavTd B

(A) Td STgS (B) IR OR<

(C) 3% gl (D) U=re Ruvsa
ferafaRaa & & @19 a1 unfeas Tbe yaref B -
(A) e (B) Q?ﬂ ENCAY

(C) BgeR AR (D) i

DI AT alcd UISY H YATE & AT DI At
PRl &

(A) TP daTed
(C) Belic ared

(B) ¥e[d dred
(D) Refiw area
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50.

51.

52.

53.

54.

55.

56.

57.

58.

PLUMBER-04

“><—"1s the symbol of :
(A) Safety valve (B) Stop valve

(C) Drainvalve (D) Fire hydrant

What is the function of trap :

(A) To prevent the entry of foul gasses
(B) To trap the rats entering the sewer
(C) To desolve the foul gasses

(D) To create syphonic action

The dischage from water closets urinal and slop sinks
is termed as :
(A) Garbage
(C) Soil waste

(B) Sullage
(D) Refuges

Minature form of main hole provided at the bend,
gradient change point end at a interval of 30 mtr. of
straight length is called as:

(A) Catch basin (B) Gullytrap

(C) P-Trap (D) Inspection chamber

An automatic device which allows water to flow
only in one direction is called :

(A) Safety valve (B) Check valve

(C) Sluice valve (D) Airvalve

The minimum recommended diameter of sewers,
is:

(A) 10cm
(C)20cm

(B) 15cm
(D) 30 cm

Average domestic consumption of water in Indian
Cities are :

(A) 135 liter/person/day

(B) 145 liter/person/day

(C) 155 liter/person/day

(D) 165 liter/person/day

The manhole is termed as deep manhole when the
depth is at least :
(A) 2.1 mtr.
(C) 3.1 mtr.

(B) 2.6 mtr.
(D) 3.6 mtr.

At which temperature sewage become poisonous :
(B) 40°
(D) 65°

(A) 35°
(C) 60°
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51.

52.

53.

54.

55.

56.

57.

58.

“ g fHEw gad 2
(A) gReT ared (B) ¥la dred
(C) 39 a1ed (D) 319 &

ST BT FIT SUANT ¢

(A) TS T B YA BT ABAT
B) AR # Tl & T BT BT
(C) T 41 BT AT

(D) ARHTH VR UaT AT

qIex FAIRTS, AT Td Tellv Rid | M are

9819 T Hedldl o
(A) TSt (B) ool
(D) Rt

(C) IfTaT e

T8Il BT Blel ®Y Sl WdR & HIe KR, Tl &
gRadT H g Wl d=1E H UAd 30 mir R
AT ST © T HEAT § -

(A) &3 IR (B) el ¢4

(C) YI—¢u (D) U TR

U WAfeld SUBRYT Sl U I badd TUh ol
f&em # Feq <d1 & R FHEA T

(A) GReT a1eq (B) T® dTed

(C) %1 dred (D) 91y dred

AR BT =ATH AN AT BT °

(A) 10 5 (B) 15 9

(C) 20 ¥ (D) 30 I

YR SIERT # U &1 i 've] @ud b=
g

(A) 135 forex /afa /e

B) 145 forex / &afda /e

(C) 155 forex /afa /o=

(D) 165 fotex /afa /o=

U B9 BIel Bl el J9 Bl od ded o | o
SADT TERTS B A BT oo HE

(A) 2.1 HIex (B) 2.6 Hicx

(C) 3.1 Hiex (D) 3.6 Hiex

for arga W) I faured 8 ST @
(A) 35° (B) 40°
(C) 60° (D) 65°
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59.

60.

How can separate the fat oil & grease from
sewer :

(A) Bysedimentation

(B) By skimming

(C) Byfiltration

(D) Byscreening

A sewer which receives the discharge from two or
more than two main sewers is called :

(A) Combined sewer (B) Leading sewer
(C) Trunk sewer (D) Combined main sewer
61. The depth of water seal in all traps should not be
less then:
(A)3.5cm (B) 5.5cm
(C)7.5cm (D) 9.5cm
62. The drop mainhole is constructed when the
difference of bottom levels of main sewer and branch
sewer is greater than :
(A) 30 cm (B) 45 cm
(C) 60 cm (D) 75 cm
63. The odour of water can be determined by :
(A) Thermometer (B) Osmoscope
(C) Turbidimeter (D) None of above
64. The maximum permissible temperature for the
domestic supply s :
(A) 5°Cto 10°C (B) 10°C to 15°C
(C) 15°C to 20°C (D) 20°C to 25°C
65. A pipesankin to the ground to tap the undergraound
water is called :
(A) Tubewell (B) Artesian well
(C) Infiltration well (D) Open well
66. Themethod adopted for removing bushes branches,
debris etc. from water is known as :
(A) Sedimentation (B) Coagulation
(C) Screening (D) Filteration
67. The process of passing of water through a bed of
fine granular material is called as :
(A) Screening (B) Sedimentation
(C) Coagulation (D) Filteration
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59.

60.

61.

62.

63.

64.

65.

66.

67.

AR | AT 9 T T DA [brerd &
INEENIEGERS]
(B) RrafHT ¥
(C) fhege@ &
(D) THIFT &

I8 AIax 794 |1 A1 1 | e 79 AaR T
HdS Yhaol V&dl & w1 hedl o

(A) HITT AR (B) IS AR

(C) S MR (D) Hga 77 ¥R

I YHR B ¢U F STof AlcT.nn.... J HH T8l
BT A1fRT
(A) 3.5\
(C) 7.5 ¥+

(B) 5.5 9
(D) 9.5 ¥+

S 79 8t &I (A1 a9 fhar ar €1 919
B FeR g g4 AR & Siie IR doll BT IR
...................... 3 31 B

(A) 30 3+ (B) 45 3+

(C) 60 3T (D) 75 =1

g @ T fhwe gRT AT oI @
(A) IR (B) SHIDIT
(C) fifsd e & (D) 37 & B &

BN JMMYLT U BT 3ffehad =i ATaHT
FIT BT &

(A) 5°C ¥ 10°C
(C) 15°C | 20°C

(B) 10°C ¥ 15°C
(D) 20°C ¥ 25°C

T U BT 9TER Mdie & ol U uigy
B SHH H IR ST © S99 T $8d o
(A) TYd aaf (B) St dat
(C) JATTRP W BT (D) Gl B3

g & SfSAr, et 9 BT drad @l
fafsr &1 R P =

(A) SFeRTE (B) BITerer

(C) hifsiT (D) ftheexe™

gl BT HEH SMER Y&t @ IRd A [OIRe
@I fafsr Far B &

(A) BT (B) 3raares

(C) BTeiar (D) ftheexer
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68.

69.

70.

71.

72.

73.

74.

75.
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The void space in the filtering material act like a :
(A) Settling basin (B) Inlet
(C) outlet (D) Drain

Slow sand filter is more efficient for removal of :
(A) Bacteria (B) Odour
(C) Turbidity (D) All of the above

The maximum permissible quantity of lead in water
of domestic supply s :
(A)0.01 PPM
(C) 0.50 PPM

(B) 0.1 PPM
(D) 1 PPM

The chain wrench is used for the pipes of diam-
eter more than :
(A)2.5cm
(C)7.5cm

(B) 4.5cm
(D) 10.5cm

Leakage is noticed during air test by :
(A) Pressure gauge

(B) Special sound of air leakage

(C) Solution of soap

(D) All of these above

In the condition of high pressure and high
temperature in pipe line which type of gasket is used:
(A) Metallic Gasket

(B) Non Metallic Gasket

(C) Semi-metallic gasket

(D) Any one of the above

Which type of valve is used to relase the
accumulated gasses automatically from pipe lines :
(A) Reflax valve (B) Check valve
(C) Float valve (D) Scour valve

Which one of the following pipes is most suitable
for making any shape of pipe :

(B) C.I. Pipe

(D) Steel pipe

(A) GI. Pipe
(C) Copper pipe
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69.
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71.

72.

73.

74.

75.

el uerel ¥ Wrell W8 |’ B Rl ©:
(A)VefemIaRE (B) geie
(C) M o (D) %7

NS fheer T g @& ford 3ifdies gwrd
2

(A) dFEIR
(C) FieHT U9

O B TR YT # TS B AABAH A
AT AT BT

B) T
(D) SWRIFd T4

(A) 0.01 4ravuH (B) 0.1 4TI TH

(C) 0.50 qr.4r.uH (D) 1 qrdrgH

faw & 1S = & ugy & fory o= X4
&1 AT fhar T 2

(A) 2.5 3+ (B) 4.5 ¥+

(C) 7.5 &+ (D) 10.5 T+

IR IV & A RAT BT U Hd el
g

(A) TG ST §RT

(B) Rama oI faey enfy 9

(C) | & a1t |

(D) SR |4

e A9 g T19 BT T H fhd bR B
e TANT BIaT &

(A) eTfcad

(B) 3rrfcad

(C) 3ref arfeas

(D) SIRIb H A Bl W

UTSY TS H T3 AT DI 37U 377
@ & ford o9 |1 daTed UART far Siran
8

(A) R&eied aled (B) 9 dTed

(C) Bellc ared (D) IHR (Scour) aTed

Prg A FATET IMHR o4 & ford 41 & 9 &F
AT 9IEY YN BT ©

(A) ST P Uy (B) ¥ 318 UISy

(C) BIR UIgY (D) <iTe T ISy
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76.

77.

78.

79.

After which diameter the pipe can be bent by
power driven machines only :

(A) 20cm (B) 40 cm

(C) 60 cm (D) 80 cm

“L 1" is the symbol of :
(A) Stop valve
(C) Safety valve

(B) Drain cock
(D) Fire hydrant

The “ph” value of drinking water should be :
(A)S B)7
©9 (D) 11

The soft water have :

(A) Bad odour

(B) Much turbidity

(C) Yellowish colour

(D) Corrosive action on metals

80. The depth of water seal in trap for inlet pipe of
80 mm diameter is kept:
(A) 25mm (B) 50mm
(C) 75mm (D) 100 mm
81. Which of'the following fitting is used to connect
one branch line to a straight line :
(A) Socket (B) S.Q. Elbow
(C) Tee (D) Round Elbow
82. A small pipe piece which have external threads at
both the ends is called as :
(A) Union (B) Nipple
(C) Chuck nut (D) Plug
83. Atwhat temperature the steel pipe is heated for
the bending purpose :
(A) 100°C (B) 500°C
(C) 900°C (D) 1300°C
84. Hydraulically and economically the best section of
drains for large flow is :
(A) Circular (B) V. Shaped
(C) Rectangular (D) Oval shaped
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&3.

84.

fpd AT & 91 UIgY dddl Ifdd dferd wiAT
NI HIS S Fhd ® -
(A) 20 cm
(C) 60 cm

(B) 40 cm
(D) 80 cm

“C1” fbd &1 e &
(A) Y 91 (B) $1 Bid
(C) e dred (D) 3T TH®H

Y AT g BT “ph” SFHE AT Il &
(A)S ®B)7
(©)9 D) 11

g, el BT &
(A) T ga

(B) 31fdr® FaTT BIAT ©
(C) Urel T &7 BIT &
(D) €T3t T ITeATar 2

80 oMo AT P sTcic UISY H Sial WA &I
TEXTS T BT &

(A) 25 fAo#i0 (B) 50 fAo#i0

(C) 75 Ao#o (D) 100 Ho#T0

UHh Al ST | ARl e oired @ ford
foa BT &1y far Siar @

(A) |ide (B) T dIgl

)& (D) el BIgh

T BITT UiRy s RRT W giear exdl & &
PHEAT &

(A) If I (B) foet

(C) I® - (D) T

Ared & forv gy frw dm w T fRy Wd @
(A) 100°C (B) 500°C

(C) 900°C (D) 1300°C

BISgod d JfeId FT 71 § | B AT dIe
HAH © -
(A) Tt

(C) ATATHR

(B) V. Shaped
(D) 3TUSTHR
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85. For cutting of the treads on pipe is held firmly by :
(A) Pipe wrench (B) Chain wrench
(C) Pipe vice (D) Pipe cutter
86. A hack saw does not consist of:
(A) Adjustable frame
(B) Screwed spindle
(C) Blade
(D) Tightening screw and nut
87. When a pipe line have a possibility of bending in
future which type of joint should not be used :
(A) Flexible joint
(B) Flanged joint
(C) Universal joint
(D) Ball and socket joint
88. Which type of seal is used to avoid leakage from
flanged joint ?
(A) Lead (B) Jute
(C) Gasket (D) Cotton thread
89. The pipe manufactured from wrought iron sheet
and laminated with rust proof layer are called as :
(A) C.L pipe (B) GI. pipe
(C) Sheet pipe (D) Asbestos pipe
90. After which diameter the pipe can be bended in hot
condition only:
(A)40m (B) 60 mm
(C) 80 mm (D) 100 mm
91. “%” is the symbol of :
(A) Drain cock (B) Stop valve
(C) Safety valve (D) Fire hydrant
92. Small bored wells made with screw type anchor
by adding rods are usually of diameter :
(A)3to5cm (B) 5to8cm
(C)8to 12 cm (D) 12to 15cm
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<! BIed FHI UTSY DI [Hdd §RT U]
ST &

(A) Uy (B) = X4
(C) UTgy ars (D) UTSY Hex
UHh EFDT § T T8l Il

(A) USSR HH

(B) U= g1 Rftves

(C) =i

(D) TTST B dTell U G -1

ST UTSY AT &I AaS § o B HHTa]
g1 dl I T Sits JANT &Rd ©

N GERIEERSIS]

(B) Felois Sire

(C) fFrardiet Sirs

(D) dfct dide Sire

oS Sife ¥ RATd el & oy grga: oA
AT el geref BT ®
(A) T

(C) TikDe

(B) 5[&
(D) 3T &

R JRRA ¥ &9 STRIES Ud T AT UTey
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(A) C.L urgy (B) GI. Uy
(D) VIdRe a1gy

(C) TR UTEy
frd @ | e dTet UTSY BT Sied @ forw
T BT TSl 2

(A) 40 fAo#io (B) 60 fAo#i0
(C) 80 fHo#I0 (D) 100 Ho#I0
(A) 7 DD (B) Y dTea
(C) e ared (D) 3T TH®

TR, TIY & IR H B$ SIIe B A= : fdvad
JT BT g fHar S &

(A) 3 9 5 10
(C) 8 9 12 |10

(B) 53 8 10
(D) 123 15 ¥+0
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94.
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98.
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Which gas is desolved in water from the atmosphere
from decomposing the organic matter :

(A) Nitrogen (B) Oxygen

(C) Hydrogensulified (D) Carbon dioxide

The depth of water seal in trap for inlet pipe of
100mm diameter is kept :

(A) 25mm (B) 50 mm

(C) 75mm (D) 100 mm

The fitting used to close the external threaded pipe
endis:

(A) Cap

(C) Chuck nut

(B) Plug
(D) Nipple

Generally what will be the bending radius for the
steel pipe more than 20 mm diameter :

(A) Equal to the external diameter

(B) Two times of the external diameter

(C) Three times of the external diameter

(D) Four times of the external diameter

The pipe which receives discharge from water
closets urinals and slop sinks is called as :

(A) Soil pipe (B) Sub soil pipe

(C) Outfall (D) Vent pipe

The water supply system which is most suitable for
irregularly developed town or city is :

(A) Grid system (B) Radial system

(C) Ringsystem (D) Dead end system

The solid hook type pipe cutter does not consists
of :

(A) Cutting reals

(B) Blade

(C) sliding pin handle

(D) Screwed spindle

The pipe generally used in water supply main line
is:

(A) C.I pipe

(C) Copper pipe

(B) G.I. Pipe
(D) Cement concrete pipe
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # G 16 TS & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, mﬁ[—gﬁﬂm e IR IS9P g Ry 2 gfe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S UNET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H Bl A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug=ae aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q THIT | IS T UPR BT HIs {29 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT" FHI ST 3R U SAIEaR & TWR ¥E8
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. U —gRT®I # & BIS TS 3T 9 Y | TR & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH HHN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. ux® usd & v IR SX fddeu fov v 2 w9
been provided, out of which only one is correct. Bact Uh 2 wel =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed Bl dadd =ilcl / Bll dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the B U STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@s usd & IR & ©Y § dad U & T8l fAdheq
answer. If response is indicated on more than one 2 dfe b gz & forw ue ¥ &1 fahedi U Ao
alternatives or the circle has not been darkened SR 7T 2 31eal el dl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Tod SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U @I si L Fre |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T& qR faU MU IR # S YR & GuR AT el
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | e ge
case of corrections or double marking of circles P IR H IR B R AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 oden 9o o deimeey, e SR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13. yx% UST &I Th b & | Told SN P [T BIs 3P
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & gaQ #§ &8
any question is found, the question given in English Ffe U Sl & o SfSn W ¥ fear T ue g
language will be treated as final. JfH 8T |
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